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Inverse Problems Related with Non-Symmetric Operators and In-
verse Problem for One-dimensional Fractional Partial Differential
Equation.
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{ D(Ap) = {H'(R)}2,
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Apu= B% + P(z)u.
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e (2, ) = DN (@, 1) + DN (2,0), o (@,A) = a®@ N H (2, A) + BN (2, N),

P (@, 0) = PN (@, 0) + 8PN (@, ), (@) = DN (@, ) + 8D (Ve (@, N),

1



0oooo0 oW\, 80(0\), 7=1,2,3,40000000000000000000 «W(\),s9(\) 000
00o000ooo0ooo0d

00000000000 0000000
0000000000 : 0000 oWW),89(0\) (j=1,2,3,4) 000000 P(z)0O00O00O
0000000000000000000 V.A. Marchenko 00000000000000000000
000000000000 0000000000000000000000000000000000000
000000000000000
O00000000000000000000000000000000000000000000000
0000000000000000000000000

000000000000 000000000000000000000000000000000000
000000000000000000000000000000
O000000000000000000000000000000000000 Ap 000000000
00000000O00

2 Joouobobooooobobbuooooo

obooooooboooooobono

%(t,x) 234%(t,x)+P(x)u(t,x) -T<t<T, O0<z<l1 (2.1)
wjpa(t,0) = hyu(t,0), j=1,2, —T<t<T (2.2)
wipa(t,1) = Hyu;(t,1), j=1,2, —T<t<T (2.3)
u(0,2) =a(z) 0<z<1. (2.4)
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(Apu)(z) = By (2) + P(z)u(z), O<z<l1
D(Ap) = {u € {H'(0,1)}*1uj12(0) — hju;(0) =0, u;i2(1) — Hyu;(1) =0, j=1,2}
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Ou(x,t) — 9 p(a:)gu(z,t) =0 0<t<T,0<z<{, (3.1)
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u(z,0) =0(z), 0<x<{, (3.2)
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(Apar)(w) = — & (p(@) i w(@) + My, 0<w <,
D(Apar) = {w € H2(0,0);9£(0) = 4£(1) = 0}
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< Ofu(- ), > +(u(-,t), App) =0, t € (0,T],9 € D(Ap). (3.6)
gbooooboboooooboooobobooog
ggodobobbboooooobobbbuoooguoboboobog

T>000000000p,q€eC2[0,4,[0,40 p,g>000 a,8€(0,1)0100000000u(p,a)0,t) =
u(g,0)(0,1),0<t<T 000 a=46,px)=9q(),0<z<(000.



